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QUESTION 1

How can a one-way parent-to-child replica be set top minimize the impact on the workflow in the parent geodatabase?
A. Use the simple replica access type

B. Do NOT register the parent as versioned.

C. Do NOT register the child as versioned.

D. Use archiving to track changes.

Correct Answer: A

QUESTION 2

Every time a user adds a database view to the map document, the ArcGIS client prompts the user to
specific a unigue identifier and spatial reference.

What could the geodatabase administrator do to prevent this prompt?

A. Register the view as versioned

B. Unregistered the view as versions

C. Unregistered with the goedatabase

D. Register the view with the geodatabase

Correct Answer: B

QUESTION 3

What is a result of a geodatabase compress operation?

A. All states that participate within a version lineage are deleted.

B. Rows in the data tables are moved to the business tables.

C. Multiple versions are collapsed into a single version.

D. The instance\\'s state-tree configuration is committed into memory.

Correct Answer: A

QUESTION 4

A GIS administrator needs to give users access to only subnet of parcel feature and filed as well as tax

Latest EGMA105 Dumps | EGMA105 PDF Dumps | EGMA105 Exam Questions 2/3


https://www.passapply.com/egma105.html
https://www.passapply.com/egma105.html
https://www.passapply.com/egma105.html

VCE & PDF https://www.passapply.com/egmal05.html
2024 Latest passapply EGMA105 PDF and VCE dumps Download

PassApply.com

record information from a non-spatial table. Users must be deride access to sensitive information in each

table.

What should the administrator choose to meet these requirements?
A. Database view

B. Query layer

C. Relationship class

D. ArcMap joins

Correct Answer: B

QUESTION 5

Where can the special access the replica manager using ArcCatalog?
A. The Database Connections

B. The Distributed Geodatabase context menu

C. The Administer Geodatabase windows

D. The Database properties window

Correct Answer: C
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